
H

K=94

S/2+K

R

K=94 S=Moving Stroke

H
 =
 2
R 
+ 
60

62.5 62.5

80
4 7

Total chain length=Number of links×62.5

99
R=75, 90, 125, 150, 200, 250 (6TYPE)

A

A

30
30 60

4 7

30
30 60

80

Moving Bracket

Fixed Bracket

Radius(R) 75 90 125 150 200 250
Height(H) 210 240 310 360 460 560

Length(L) =    2   +  πR  +  188  S

Chain, Guide Rail

Guide Rail

Max. Cable Diameter
Cross Section

65

37

33

65
85

COVER

37 60

A-A Cross Section

HSP 0625-1BN HSP0625-1BN	 90R	 2000L	 3SETS
Type	 Radius	 Length	 Q’ty

ORDER EXAMPLE

Brackets

8850

32 30
80

12

4-   9×13 SLOT HOLE

2-   6.5

Fixed Bracket

8645

32 30
80

12

4-   9×13 SLOT HOLES

2-   6.5

Moving Bracket

76   




